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350 ZHAERSIOHILE 1035 H=s ST 2% Sa h 2Izk
351 ZAEISOITE 1055 ) S5 25 s 2ET oIzt
352 ZAHHCOHIE 15 HEE SSFH 23 S5 257 oz
353 ZAHHGOHILE 28 HxE ST 23 S5 2ET oIz
354 ZASILIOIILE 1018 HEE SSFH 23 S5 257 oz
355 ZAIBILIOITIE 1028 Uss ST S | BSS 28T ezt
356 ZASILIOIIIE 1035 Uss SEFH 25 | BSSH 28T ks
357 ZASILIOIIIE 1045 Uss SSFH 25 ST 28T ezt
358 ZAFSHLIOMITE 1058 Uss SEFH 2% S 28T ks
359 Z ARSI OIIE 1015 UE= sSFH 23 Se 87 2z
360 ZAFSIZOMILE 1018 U=E SETH 25 BSS 257 oz




361 ZASIIOME 1025 SETH 2% BSS alzt
362 ZLB=R 0 E 1028 ST 2% S=E Izt
363 Z ARSI O E 1045 sSFH 23 Se 2z
364 ZABt= 0 E 1058 ST 2% SE Izt
365 Z AT O E 1065 SEFH 2% S5 2l
366 Zsn C20 35 s RIREA
367 PREEECI S = == RIKFA|
368 23 Ho AT Y C SU=E 23 £ oIzt
369 st FEAME C SUXE B = 4 337|8
370 ZsH 19T ME] C SU=E 3% BS S 23 K| X%
371 Lot EH | C SUXE 23 = U3 K| KX
372 detE s I H C SU=E 35 S5 2z K| X%
373 daEo 3" A C 8URE 35 s 43 K| KX
374 P ] C SU=E 3 S5 3| K| XEA
375 L2032 C 8URE 35 S5 237|8
376 20| ZeHE e d Al C SU=E 3 S5 K| REX|
377 LR AED 2} C 8UXE 23 s= Qg
378 oA HY =X FE 23 S5 K| XEA
379 A ] St 5 s= XXt
380 P ESN [ ] wet 3 s= K| XEA
381 Hets AFESXAH UEE 5 s= XXt
382 Hets HEEXH U=E 3 S5 K| XEA
383 NS0l 2H U=E 33 S5 XIXIA
384 HEANECS D met EES == RIAHA
385 | A7I/AMXPHEH SESH AATHELINE UEE 35 s= Qg
386 YAt HEE 3 S35 oIz
387 AR E2=50 |l 35 s= K| XHA|
388 Asotme SETH 3 s= K| REX|
389 AL SK VIEW 1018 SSTH 23 S5 T 0es
390 AL SK VIEW 1035 ST 2% S= M ==
391 AL SK VIEW 1045 SSTH s = M 0es
392 T SK VIEW 1058 SSTH 3 BS= AT 02&F
393 AT SK VIEW 1065 SSTH 23 S5 MT 0es
394 AL SK VIEW 1075 SSFH = BS= M =%
395 et SK VIEW 1088 SETH 2% S M o2&
396 At 3502 MEH 24018 JSTE 23 S5 M Qg
397 Aot 23028 MEE 24025 SSTH 23 S5 M Qizt
398 At 35022 MEH 24038 JSTE 3 S5 M Qg
399 Aot 23028 MEE 24045 SSTH s S5 M Qizt
400 At 35022 MEH 24058 JSTE 3 S5 M Qg
401 Aot 23028 MEE 24065 SSTH 23 S5 M Qizt
402 At 35022 MEH 24078 JSTE 23 ASE M Qg
403 Aot 23028 MEY 24085 SSTH 23 S5 M Qizt
404 At 35022 MEH 24098 JSTE 3 ASE M Qg
405 Aot 23028 MEE 24108 SSTH 23 S5 M Qizt
406 At 3502 MEH 24118 SEFH 3 ASE M oz
407 Aot 23028 MEY 24128 SSTH 23 S5 M Qizt
408 At 3502 MEH 24138 JSTE 23 S5 M Qg
409 | A HZF2XHHY MEH =2y 1018 SSTH = S5 M7 aiz
410 | ATt AHY MESH Z=g 1025 SSFH s sa AT gzt
411 | A 2N HY MEH =2y 1038 SSTH = S5 M7 aiz
412 | ATt EAHY MES =2 1045 SSFH 5 Su MT gzt
413 | AU CHE2NHY MEH X 1058 SSTH 23 S5 M QIzt
414 | ATt AHY MES =2 1065 SSFH 5 Su MT gzt
415 A AlotolAdl ofBHHAE 3018 IS 23 S5 M7 aiz
416 AL Alotol Al OfHHHAE 3028 ST = ST M Qg
417 ZEH AlotolAdl OfBHHAE 3038 IS 23 S5 M7 aiz
418 AL AlotolAHl OfHHHA E 3048 ST = ST M Qg
419 A AlotolAdl ofBHHAE 3058 IS 23 S5 M7 aiz
420 AL Alotol Al OfHHHA E 3068 ST = ST M Qg
421 AL AlotolAdl ofBHHAE 3078 IS = S5 M7 aiz
422 AT AotolAHl OjHHHAE 308& SSTH 5 Su MT gzt
423 ZEH AlotolAdl ofBHHAE 3098 IS = S5 M7 aiz
424 AT AotolAH OJHHHAE 3108 SSFH 5 Su MT gzt
425 A AotolAdl OjBHHAE 3118 IS 23 S5 M7 aiz
426 AL Alotol Al OfHHHAE 3128 ST = ST M Qg
427 ZE 27 Z20toj1018 SSTH 23 = M QIzt
428 4t 2 F S200[1028 SSTH 5 Se M7 gzt
429 4t 2F S2O0|/103& SEFH 23 sa MT gz
430 bt 7% 2Yoio|RE 1018 SSTH 2% ST AT gzt
431 e 7% 2U0t0| R 1028 SSTE 23 S5 M oIzt
432 ot 279 LE00|RH 1035 SSFH 25 sa MT gzt
433 e 7% 2U0t0| R 1058 SSTE 23 S5 M oIzt
434 o 27 LE00|RE 1065 SSFH 25 sa MT gzt
435 ATt ojet 2EfY 043 33018 SSTH 25 s M 2zt
436 ZCh ot 2BEtY oH3 33028 SSTH 23 sa AT gzt
437 Tt ojet 2EfY 043 33038 SSTH 25 s M 2zt
438 ZCh ojete EEHY IH3 3304 SSFH 5 sSe MT gzt
439 Tt ojet 2EfY 043 33058 SSTH 25 s M 2zt
440 ZCt ojete 2EHY IH3 3306 SSFH 25 sSe M7 gzt
441 ATt ojet 2EfY o043 33078 SSTH 25 s M 2zt
442 ZCh o2k 2EHY IH3 3308% SSTH 2% ST AT gzt
443 Tt ojet 2EfY oH3 33098 SSTH 25 s M 2zt
444 Zth o2k 2EHY OH3 33108 SSTH 2% ST AT gzt
445 At otets MEZn 5018 SETH 25 ASE M 02%
446 At oete ME DS 5028 ST s S5 M =
447 Aot otete ME S 5038 SETH 23 S M 0=&F
448 At otete MEHDS 5045 SSTH 23 S5 M oe&
449 Aot otete ME S 5058 SETH 23 S M 0=&F
450 At otete ME DS 5068 SSTH 23 S5 M oe&
451 Aot otete ME S 5078 SETH 23 S M 0=&F




452 At otete ME NS 5088 U=E SSTH 23 S5 M oe&
453 Zch ojet MERDS 5095 =g SETH 23 S5 M7 0=&F
454 At oete MEHDS 5108 U=E SSTH 23 S5 M oe&
455 Zch ojgt MEZDE s11E U=E SETH 23 S5 M7 0=&F
456 At ot MEHDS 5128 U=E SSTH 23 S5 M =
457 AL ST LN AL dotEE S35t EAE 23 S5 M7 K| X%
458 A EHH == X] Yot N = = M X| XA
459 HEHE X352 HEE CHE0|8HEE 23 £ M7 K| X%
460 |ATHMEA CHYH 2 S 2f Z2]0]0] 701 UE= SETH 3 S5 M alzt
461 | HEMEA CiEH 29 2t =2[0]o] 702 H=s ST 2% S= M Izt
462 |ACHMEA| CHEH 2 S 2 =2(0]0] 703 H=E SEFH 2% S5 M alzt
463 | BTHHIEA| CidH 23 2 Z2|0]of 704 UE= ST 2% Se M Iz
464 |ACHMEA| CHEH2S 2f =2[0]0] 705 UE= SEFH 2% S M alzt
465 [HEMNEA g2l 2t =2|0jof 706 H=s SSTH s sa M 2IZk
466 | AEHMEA| CHEH2S 2t =2(0]0] 707 UE= SEFH 2% S M alzt
467 [HEHEA| CgH 2 2t =2|0/o] 708 U=E ISTE 3 S5 M7 aiz
468 [ ATz Al CHMH[ 23 2t Z2|0/of 709 UEE SSTH 23 s M oIz
469 [HEHEA| CHgH 28 2t =2|0]o] 710 U=E IJSTE 23 S5 M7 aizt
470 AERIEA| CIOEZ O 3 29018 UEE 3EFH 5 s M oIz
471 HERIEA CIOEE O & 29028 =g SETH z sa AT gzt
472 HEHIZA| COE 29038 U=E 3EFH 5 s M oIz
473 HEHIEA| CIOE 29043 =g SETH 5 sa AT gzt
474 HEHIZA| COE 2905& U=E 3EFH 23 s M oIz
475 HEHIEA| CIOE 2906 =g SETH 23 sa AT gzt
476 HEHIZA| COE 29078 U=E 3EFH 23 s= M oIz
477 HEHIEA| CIOE 29083 =g SETH z sa AT gzt
478 HEHIZA| COE 29095 U=E 3EFH 23 s M oIz
479 HERE A T E 29105 U=E IJSTE 3 s3 M oIz
480 HEHIZA| COE 29118 U=E 3EFH 23 ASE M oIz
481 HERIEA| CIOE 29123 =g SSTH 23 ASe AT gzt
482 AR EA] CIOE 2913& =S SSTH s ASE M aizt
483 EERENENE 2914% HEE SEFH 3 S5 M oz
484 AR EA] CIOE 29158 =S SSTH 23 ASE MT aizt
485 AEAZ A COE 29165 HEE JSTE 3 ASE M Qg
486 AR EA] CIOE 29178 =S SSTH 23 ASE M aizt
487 FERENELE 29185 HEE JSTE 23 S5 M Qg
488 AR EA] CIOE 29198 =S SSTH 23 ASE MT aizt
489 FERENELE 2920& U=g JSTE 3 S5 M Qg
490 A=A CIHEE O & 29215 =S SSTH s ASE M aizk
491 AT Al 2XHY 2tZe 1015 U=g JSTE 3 ASE M Qg
492 HERIEA| 2HH[Y 2tZef 1028 HEE SSTH 23 ASE M Qizt
493 A 2XH[2 2tze| 1038 U=g JSTE 23 S5 M Qg
494 HERIEA| 2HH[Y 2tZ2f 1045 HEE SSTH 23 ASE M Qizt
495 AR A 2XH[Q 2tze| 1058 U=g JSTE 3 S5 M Qg
496 HERI Al 2HH[Y 2tZ2f 1068 HEE SSTH 23 ASE M Qizt
497 AT Al 2XHY 2tZe| 1075 U=g JSTE 3 ASE M Qg
498 HERIEA| 2HH[Y 2tz 1088 HEE SSTH 23 ASE M Qizt
499 Az A] 2XH[2 2tze] 1098 U=g JSTE 23 S5 M Qg
500 | HEHMEA] BopOjeie A2 ENtS 801 HEE SSTH B ASE M7 Izt
501 | ACHIEA| 2oj0jafE A EDT 804 = SEFH = ASE M7 2l
502 | HEHMEA] BojOjeie AWR|EDIS 805 HEE SSTH B ASE M7 Izt
503 | ATHAMEA] DotOjis He[EDS 806 UHE= SsFH £ ASE M7 ez
504 | A=Al RojOjeie AWalED3 807 == SSTH 23 ASE M QIzt
505 | AERAMEA] OJOjX] E2[Z0F 27018 U=E ST = s M Qg
506 | ATHAEZA OOjX| E2[E0|F 27025 HEE SSTH 23 ASE M QIzt
507 | AEIEA OOjX| E2|S0F 27035 UNE= SsFH 3 | Asw M7 ez
508 | ATHAZA OO|X| E2[E0|F 27045 HEE SSTH 23 ASE M QIzt
509 | AEIEA OOjX| E2|S0F 27055 UHE= SsFH 3 | Asw M7 ezt
510 | HAEHAEZA OOjX| E2[E0|F 27065 HEE SSTH 23 ASE M QIzt
511 | AEHIEA OfO[X] E2IE0F 27078 e &5 z S= AT oIzt
512 | AERAEZA OOjX| E2[E0|F 27085 HEE SSTH B ASE M QIzt
513 | AEIEA OOjX| E2|S0F 27095 UHE= SsFH 3 | Asw M7 ezt
514 | AERAEZA] OOjX] E2[E0|F 27105 HEE SSTH B ASE M QIzt
515 | AEIEA OOjX| E2|S0F 27115 UNE= SsFH 3 | Asw M7 ez
516 | HAEHAZAl OOjX] ER[E0|F 27125 HEE SSTH 23 ASE M QIzt
517 | AEHIEA OfO[X] E2IE0F 27138 e &5 z S= AT oIzt
518 | AEHAEZAl OOjX] ER[E0|F 27145 HEE SSTH 23 ASE M QIzt
519 | AERIEA 20[2 HAILH 30018 EEr &5 T | AsE AT izt
520 | ATRIE Al 202 HAIJLA 30028 U&= SSFH 25 | ASE Mt k]
521 | AEHIEA] 02 HA[OLA 3003 A= SSFH 25 ASE M7 gzt
522 | AEMMEA] 2002 HA[OLX 30045 =g SEFH 23 ASE M7 gzt
523 | AEHEA] 02 HA[OLA 30058 A= SSFH 25 sSe MT gzt
524 | AEMEA] 2002 HA[OLIX 30068 =g SETH 23 ASE M7 gzt
525 | AEHEA] 02 HAOLA 3007 A= SSFH 25 ASE MT gzt
526 | AEMMEA] 2002 HA[OLIX 30085 =g SETH 23 ASE M7 gzt
527 | AEHEAl 02 GAOLA 3009 A= SSFH 25 ASE MT gzt
528 | AEMMEA] 2002 HA[OLIX 30108 =g SETH 23 ASE M7 gzt
529 | AEHEAl 02 HAOLA 3011S A= SSFH 5 sSe MT gzt
530 | AEMMEA] 2002 HA[OLK 30128 =g SEFH 23 ASE M7 gzt
531 | AEHIEA] 02 HAOLA 3013& A= SSFH 25 ASE M7 gzt
532 | AEMEA] SHIGE 43 11018 =g SEFH 23 ASE M7 gzt
533 | AEMMEA SHIESE M 11025 U=g SSTH 23 AsSeE AT gzt
534 | AEMEA] SHIGE 4 EIH3 11038 =g SEFH 23 ASE M7 gzt
535 | AEMMEA SHIESE M 11045 U=g SSTH 23 sa AT gzt
536 | AEMMEA] SHIGE 4 EI3 11058 U=g SETH 23 ASE M7 gzt
537 | HERMNEAISHILE 4T3 1106S U=E SEFH B S= M oIz
538 | AEMMEA] SHIGS 4 EM3 11078 U=E SETH 23 S5 M7 gzt
539 | HEMMNEASHILE 74403 1108& U=E SEFH 23 = M oz
540 | AEMEA] SHIGS 4 E3 11098 U=E SETH 23 S5 M7 gzt
541 AEMEACIO E2 | Hut 30Tt E UEE SEFH 23 = M Qg
542 EEREN N EEEE R ENR S U=E SSTE 25 2 M oz




543 AR EAIC| E22[HIt T OHI E U=E SSTH 23 S5 M Qg
544 AR AL E22[HItF oI E =g SSTE 23 S5 M oIzt
545 A EAIC|0| E22| Bt F Ol E aA=s SsFH 25 S MT aizt
546 AR AL E22[HItF oI E U=E SSTE 23 S5 M oIzt
547 A EAIC|0| E22| Bt F Ol E aA=s SsFH 25 S MT aizt
548 A EAZEX] QO F 32018 =g SSTE 23 S5 M7 gzt
549 AENEAF 2R O H| 7 32028 U=E SEFH B = M Qg
550 A E A ZEX] | 4F 32038 =g SEFH 23 S5 M7 gzt
551 AEEAF 2R O H| F 32045 U=E SEFH B S= M Qg
552 A E A ZEX] Q| F 32058 =g SETH 23 S5 M7 k]
553 AEEAF 2 X O H| 7 32065 U=E SEFH 23 S= M Qg
554 HEMIEAEE X QG H| 7 32078 =g SSTH 2T s M7 gzt
555 AENEAF 2R 2O H| 7 32085 UEE SSTH 23 s M Qg
556 HEMIEAEE X QG H| 7 32098 =g SETH 5 s M7 gzt
557 HAERIEA|Z2X| O H| & 32108 U=E SSTH 23 s M Qg
558 HEMIEAEEX QG HF 32118 =g SETH 3 s= M7 gzt
559 HAERIEA|Z2X O H| & 32128 U=E SSTH 23 s M Qg
560 HEMIEAEEX QG H| 7 32138 =g SETH 2T s M7 gzt
561 AEEA R EX O H| 7 32145 UEE SSTH s s M Qg
562 HEMIEAEEX QG H| 7 32158 =g SETH 5 s M7 gzt
563 AERIEA|Z2X O H| & 32168 U=E SSTH s s M Qg
564 AeExA U=E CHE0|8HXE 3 s= M7 K| REX|
565 ZCHEr el Zetereel UEE CS0|8HXRE 23 S5 M Qg
566 AKX eSSt 4018 U=E SSTE 23 S5 M7 oIzt
567 AR+ S 4028 U=E SSTH 23 S5 M Qg
568 | HA1X|F 413X A710|F OFEFE (301 H=s ST s sa M 2IZk
569 | AKX AY3Kt AF}0| 5 OFIFE (302 UEE SSTH 23 S5 M Qg
570 | AATX[T MY3XH AFt0|F OHItE(304 H=s ST =z SE M Qg
571 AY2X| 7 MESiIst 3018 U=E SSTH 23 S5 M Qg
572 2K eS| IsHY 3028 =g SSTH 25 s Mt gz
573 AQU2X| 7 MESiIstY 3038 HEE SSTH s S5 M Qizt
574 AA2X| T ZY1XIOIIHE (2015) U=g JSTE z BS& M Qg
575 AYU2X| 7 2 1XIOHIHE (2025) U=s SSTH 2T sa RE aI7F
576 AA2X| 7 EZ1KIOHIHE 203 ) U=g JSTE z BS& M Qg
577 | HY2A MHAFIO|R O E (6025) =g SSTH 23 = M Qizt
578 | ALK AHAFIO[E OFLIE (6045) U=g JSTE 23 = M Qg
579 | HY2A MHAIIO|R O E (6058) =g SSTH 23 S5 M Qizt
580 | ZAY2A AEAFIO[E OFLIE (606 5) U=g JSTE 3 S5 M Qg
581 AY2A S 20| 2l Ol E 102& =S SSTH s S5 M Qizt
582 22X Z20t0| @l Ol E103& U=g JSTE 3 S5 M Qg
583 A2kt Z20t0| @ OFIFE 1058 =g SSTH 23 S5 M Qizt
584 Ze2A Z20t0| @l Ol E106& U=g JSTE 23 BS& M Qg
585 A2kt E2010| 8 OITE 1078 U=s SSTH 2T sa AT aizk
586 Ze2X Z2loto| @l Ol E108& U=g JSTE z BS& M Qg
587 A2kt E2010| ¢ OFTHE 1098 =g SSTH 2T == AT aizk
588 Ze2A Z20t0| @l Ol E110& HEE JSTE z BS& M Qg
589 A2kt E2010| ¢ OTE111E U=s SSTH 23 S5 AT aizk
590 Ze2X Z20t0| @l Ol E112& U=g JSTE 23 S5 M Qg
591 AYA2% S 20t0| Y OfIFE 1138 U=E SSTH = = M oz
592 ZQOHR21 OFIHE 1015 a=s SSFH z sa AT gzt
593 ZAAOPE 1 OHILE 1025 U=E SSTH = = M oz
594 Z EH3X0tIE 3018 a=s SSFH 5 == 2H7 gzt
595 ZAS3K0HIE 3025 == SSTH 23 = 2EL QIzt
596 Z EH3XI0tIE 3045 a=s SSFH 5 == 2H7 gzt
597 ZAS3KO0HITE 3055 == SSTH 23 = 2EL QIzt
598 ZEH3X0tIE 3078 a=s SSFH 5 == 2H7 gzt
599 ZS3XO0HITE 3085 == SSTH 23 = 2EL QIzt
600 ZEH3X0tIE 3108 a=s SSTH 5 == 2H7 gzt
601 ZAS3A0HIE 3115 =g SSTH 23 = 2E7 aizk
602 ZEH3XOtIE 3128 a=s SSFH 5 == 2H7 gzt
603 ZAS3K0HIE 3135 =g SSTH = = 2E7 aiz
604 ZAAKIOIIIE 4035 a=s SSTH 5 == 2H7 gzt
605 ZAS4XIOHIIE 4045 =g SSTH = = 2E7 aiz
606 ZAAKIOIIE 4055 a=s SSFH 5 = 2H7 gzt
607 ZAJ4XIOHIIE 4065 == SSTH 23 = 2E QIzt
608 ZAAKIOIIIE 4075 a=s SSFH 5 == 2H7 gzt
609 ZJ4X[OHIIE 4085 =g SSTH 23 = 2E7 aizk
610 AAKIOIIE 4095 A= SSTH 5 Se 2H7 gzt
611 ZAJ4XOHIIE 4105 =2 SSTE 23 = 257 oIzt
612 ZAL4XIOIOE 4115 A= SSFH 2% S 2H7 gzt
613 4 E5XOHIHE 5018 =g SEFH 23 = 27 gzt
614 ZAE5XOHIE 5028 A= SSFH 23 S= 27

615 ZAY5XIOHILE 5035 =g SETH 25 sa 2ET

616 EREER St HjE gt 5 S5 M

617 ZIES] U=g R 25 S5 M7

618 Zea7tn mi=] CEnE 25 sa A

619 ZoIAAR e 2l =g CHE0|8HEE 25 = o7

620 ZOIMNIIAIRIFEN 7t5 U=g JSTE 5 s= o=

621 HOIMIIARTE LIS =g SSTE 35 s= 0jFs

622 ZOIMNIIIRIFEN CHE U=g ST 3% s= ojFs

623 HOIMIIARIFE Bt s U=g SSTE 35 s= 0jFs

624 A1 0.26k(RIH e S8 24 BT 23 ST ojFs X
625 AQoIM 030k 2Eeh 4 24 C28Y 23 sa 0jFs X
626 AoIM 045k(M 2t 84 S8 BT 23 ST ojFs X
627 4ol 045k(QIHEShH S 34 C23Y 25 ASS = X
628 oI 0.73k(M2Eeh S8 4 28 s S5 ojFEsT X
629 ZolM 0.73k(QIH Y3 8¢ 4 CE23H 23 S5 0jxs X
630 Z4oIM 1.02kME) 84 4 28 2% S5 ojFEsT X
631 ZolM 1.0kQIMgtsh 34 4 CE23H 23 S5 0jxs X
632 Z4oIM 122k 1H) 84 4 28 23 S5 ojFEsT X
633 ZolM 1.24k(M2) SH 24 CE23H 23 S5 0jxs X




634 Ao 217k 2Eeh S8 4 28 23 S5 ojFEsT K| RHX
635 ZolM 315k M 23 8 24 CE23H 23 S5 0jFs K| RHA
636 oI 3.15k(QIMEeh S8 4 28 23 S5 ojFEsT K| RHX
637 ZolM 422k M 23 Y 24 CE23H 23 S5 0jxs K| RHA
638 ZoIMIE} UEE HEH=E 23 cs3 2ET Qg
639 EREEEETS =g SSTE 35 cs8 0= oIzt
640 Bl FE BS UEE SSTH 5 csg o=+ Qg
641 oI FE DE =g SSTE 35 cs8 0= oIzt
642 £ otmE UEE ST 5 cs3 o=+ Qg
643 FEEE =g ERE 23 BSE 0= oIzt
644 A A k] CEug 35 BSS Ay K| XA
645 A i CEng 3Z == AT R|AFX
646 HAas HHE X ME U=E CS0l8HXE 35 S5 AL K| RH%
647 A IR SAH U=E CHE0|8HXE 3 S5 AL K| XEA
648 HAHs M Z1Xt0tItE U=E SSTH 23 S5 AL Qg
649 Al AtsstolH 2t U=E ERE 3 S35 AT oIz
650 AMSSLE w3 U=E CS0|8HERE 23 S5 AL Qg
651 A AKX F2HOHS EfHOMIIE 4145 U=E IJSTE 23 S5 AT oIz
652 | AMNXF2HOISEHHOIME 4155 Uss ST s S= ALT ezt
653 A AKX F2HOHSEfHOMILE 4165 U=E IJSTE 3 S5 AT oIz
654 | AMNXF2HOISEHHOILE 4175 Uss SSFH s S= ALT ezt
655 | AMEiX|2e0rS o2 OIItE 4045 UE= SEFH 3 Se ALT Qi
656 | ALPEAX| A0S HEOIILE 4055 Uss SSFH 25 S= ALT ezt
657 | AMEIX|2>e0rS o2 OIItE 4065 UE= SEFH 2% S ALT Qi
658 | ALPEAX| A0S 4L OMILE 4075 Uss SSFH 25 S= ALT ezt
659 | AIMEiX|2@0pS 2 OItE 4085 UE= SEFH s S ALT Qi
660 HAMSHOHITE 1015 U=E SSTH 23 S5 AL aizk
661 A ASCHOHILE 1025 HEE SETH 3 S5 AL aizt
662 H MBS HOHITE 1035 U=E SSTH 23 S5 A aizk
663 HASCHOHILE 1045 HEE SETH 25 S5 AL aiz
664 HMSHOHITE 1055 =S SSTH s = AL aizt
665 H ArSICHOMILE 1068 U=g JSTE 3 BS& AL Qg
666 HMSHOHIIE 1075 =S SSTH 23 S5 AL aizk
667 ZH ArSICHOMILE 1088 U=g JSTE 3 BS& AL Qg
668 A A CHOHILE 1095 HEE SSTH 23 = AT Qizt
669 HASHOHILE 1105 U=g JSTE 25 = AL Qg
670 A g aix101S =g SSTH 23 S5 AT Qizt
671 AY AY ACix1025 U=g JSTE 3 S5 AL Qg
672 A g OCix1038 =S SSTH B S5 AT oz
673 A A ACiR104s U=g JSTE 3 S5 AL Qg
674 A 4 AMiR105S =S SSTH 23 S5 AT Qizt
675 AY s EHE 0|2 1015 U=g JSTE 25 ASE AL Qg
676 AY MY HE0|A 1028 =S SSTH 23 S5 AT Qizt
677 AY 2 HE0|A 1038 U=g JSTE z ASE AL Qg
678 AY MY HE0|A 1045 =S SSTH 23 S5 AT Qizt
679 AY s E 0|2 1058 U=g JSTE z ASE AL Qg
680 AL MY HE0|A 1068 =S SSTH 23 S5 AT Qizt
681 AY s EHEY 0|2 1075 U=g JSTE 25 S5 AL Qg
682 AN MY EHE 0|2 1088 HEE SSTH = S5 AT oz
683 A Y S AEHZ0|A 1095 UxE ST = s AL Qg
684 AN s EHE0|A 1108 HEE SSTH = S5 AT oz
685 AL 2P EHE oA 111S a=s SSFH 5 Su AT gzt
686 AN aMYEHEY0|A 1128 U=E SSTH 23 S5 AT QIzt
687 HY S YHEH0|A 1135 U=E ST = ST AL Qg
688 AN aMHYEHE0|A 1145 U=E SSTH 23 S5 AT QIzt
689 AY g HE0[A 1155 a=s SSFH 5 Su AT gzt
690 AN aMHYEHE0|A 1168 U=E SSTE 23 S5 AT QIzt
691 H DSE X[AIAFRIMIE UxE QeH=s = ST AL Qg
692 A AT = 7| Et 7|E| 35 S5 AL X XHA|
693 AT 2% UxE 7|E] = s AL 33718
694 HAYP =X T HEE 7|E| B = AL K| REA|
695 AL HA UxE QEH=s = ST AL 337\
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